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0243 20ilaF LetelH ZAKE 0
SN BATRD
Hu: mape
oSl ARIZES HASE AHIA MR (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SATHA 45,099,750 38,706,466 6,393,284
= 163,400
== 53,920
Al 44,882,430
A2 32,074,427 26,605,595 5,468,832
= 163,400
< 53,920
Al 31,857,107
AN2ZS HAAE MHIA WS 12,482,876 10,848,188 1,634,688
= 150,000
== 45,000
Al 12,287,876
BAMESAR Al MEHY W= 500 500 0
201 er=3| 500 500
01 AtR2t2lt] 500 500
Ou= 2ZAH| 500,000& %12 500
IRt ADHK 24 2,522,376 1,997,688 524,688
101 @124H| 457,658 368,470 99,188
M IRINZZENSES 457,658 358,470 99,188
Osds &I RHEI| ©@E 22 419,761
—Jl2= 78,8802 x 152212 x 12 298,167
—F5=4 78,8803 x15F+51 60,344
—352=sE 78,8803 x 15« 16 18,932
—=gle= 377,440,800 4. 5% 16,985
—2IEE 377,440,800 *3.545% 13,381
—IRLEE 13,380,2762 *12.81% 1,715
—1E2E 377,440,800 *1.75% 6.606
— & HEE 377,440,800 +0.962% 3,631
OUIAA & 2dD] el 22,986
—Jl2= 78,8802 x4 H*21 L *2H 13,252
-5+ 78,8303 x4 H <0 2,840
—SRdsd 78,880 x4 H 1 316
— A2l 118,320 x4 & »0 4,260
—=bd= 20,666,5602 4. 5% 930
—JdAEE 20,666,560 *3.545% 733
— AL 93,9503 A
—1NEEE 20,666,560 *1.75% 362
— & HEE 20,666,560 *0.962% 199
OJI=E 48+ 7,779
—JlZ2s 78,8802 x6E 14! 6,626
—T5rd 78,8802 x6H x2 947
—NEEE 7,572,480 *1.75% 133




A HATRD
R HABL
SRl ADIZE HAME MHIA HIZ (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
— & HEE 7,572,480 0. 962 73
OMEHIIS +T28 HHATTI} B3
gore 012 7,132
—Jl2=s 78,880 8 10 6,311
— =5+ 78,8803 x8H 1 632
—NEES 6,941,4402%1.75% 122
— & HEE 6,941,4402 %0.962% 67
201 fet=23y| 372,126 419,082 N\46,956
01 AtR2te|H] 79,002 79,092 0
OetZllstd FxE8E 728 10,950
— A EASEFL(LAR)
1,890,000& #52 9,450
—AIDHA EASSFY(MeEI])
300,000 #53] 1,500
OstZ0lstd AANE HE2 =&
390,000& %12 390
Ot30IzH |FAHAANE 223
360,000& x102] 3,600
OsdZZANE ZEUH A+l
350,000 23] 700
Otd0Iatd 2HAAE AIEE
160,000& * 122 1,920
OZ0Istd SAHAE E=I| SRz
108,000& *12H| & 1,29
OFLXg &Il dAtg
200,000& = 10CH 2,000
OFAXE N2 Sz
60,000& * 102 600
OEAXZ 2HY Xoi= U ords g 9,500
—&gs 170,000 x 19 #2353 6,460
— 2SS 80,0002 x 19 *23] 3,040
OgZ0Istd H&X HAst HA X=
1,000,0002 %12 1,000
OMIIZMaHZSE st &2zl 29 &4
=g 100,000 +25& 2,500
O=gSI| Zaz M=
23,000,000 x 14 23,000
OdgHII= tHEg 82 Z3tE MH
60,0002 *25H 1,500
OdLHDIZ e, 2SI S 2=
NES 5,000,000 * 14 5,000
Od&HDI= M EIorARa #3+E
100,000 %10 1,000
OSgNsE g =8
192,000& * 102 1,920
OSgNSE NS MBNAALS =2
9,600& 102 %6




2A:

ESEADN S,

.\

[uins

Hu: mape
oSl ARIZES HASE AHIA MR (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUEHIISIE 2H === 12,120
—(S9S) HEHIISHEZM =8
35,0002 x28CH* 122 11,760
—(SHOIX & FAX2W) HEHIIS3t
CZ2N =28 30,0008 » 122 360
2 S5=24g4l 288,034 339,990 A51,9%6
O EXNEE= 90,0002 10 900
O8AXtE 7= 183,344
—SR7Y>ER) 1,90024%35,4442| £ 67,344
—HHIIAT A (150H)
1,200 *96, 6662 E 116,000
O==cl==&Hl 64,200
—HaXE wcl=dhl
4,275,0008 123 51,300
—LHIEAIIE 25 FYHI(A0IE Eei4
) 658,200 * 122 7,900
—E0I0 S wAbI 500,000 x102 5,000
OHEHIIEAL 28
500,000 %102 5,000
OSZ0IFEFANAIE SS2RS(3MHA) 7,680
MRS 140,000« 12& 1,680
— ot R3 140,000« 12& 1,680
—SAHI(EHY 2 EHI)
120,000 *3CH* 12 4,320
OgeEse 50,0003 x4CHx 122 2,400
Otdilztd &4&Xt ==clt]
60,0002 10 600
OllstHES22E ) 332 10
—dotrER=s 8002 12 10
ORSEIIZAIICH =l & 012H]
2,000,000 102 20,000
OSESIId? UHE CHUHE 2E SER
= 100,000& «12& 1,200
OHAXIY BANELLS
1,350,000& x2 & 2,700
03 A= I 5,000 0 5,000
OBASE dds et Al B0 A XIE
5,000,000& *12] 5,000
202 04| 6,480 6,434 46
01 =LHO LI 6,480 6,434 46
OaxsgRd 60,0002 43| x 102 2,400
ONEXY L DEHA
60,0002 +x3&x113] 1,980
OdgHIl= Ml J&X AS
60,0003 x5 +73] 2,100
203 gF=4| 7,500 5,000 2,500
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M HABD
CHol: AIQIZIE HAME AHIA M2 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 7,500 5,000 2,500
OFa ey g4 7,500,000 14| 7,500
206 M=l 444,190 489,280 245,090
01 M=4l 444,190 489,280 245,090
OMYDI B HMSEME (EIHZ) 442,870
—51¢ 33&15,5150H 512
—1014 412 %400,0000H 16,400
—20¢ 58&*4, 177,0000H 242,266
—30¢ 1243 +1,190,0000K 147,560
—50¢ (538) 1243 +218,0000K 27,032
—1002 (4E+=HE) 350% %26, 0000HK 9,100
OLIMAl d&MD] & S4= Nl =AH=
&X 110,000& ~ 12& 1,320
301 EtE N = 4,422 4,422
11 #AIAMHIXIZ S 1,000 1,000
Odzgtgds s AN A
1,000,000& %12 1,000
14 0Bt 2as 3,422 3,422 0
OLHH M NS AAIR 1,500,000 *14] 1,500
OsSyHSIRINEAS 1,922,0003 14] 1,922
307 elztol & 150,000 150,000
05 21t S 150,000 150,000
OXgDISHENSE & SA=E S3UE|
150,000,000 * 14 150,000
405 AtatE=H 1,080,000 500,000 580,000
01 TR =S FISHI 1,080,000 500,000 580,000
Ogt=¢ axtd 7
160,000, 0002 *3CH 480,000
OoNgE =Xz 2
100,000, 000 ~6CH 600,000
HEHDIZ 8.2 (&Y 9,500,000 8,800,000 700,000
307 gl2to| & 9,500,000 8,800,000 700,000
05 212t =S 9,500,000 8,800,000 700,000
OdgHll= 8. .28 A5
9,500,000,000& 14 9,500,000
IHII= Xel 80,000 50,000 30,000
401 AIEHIZL SO 80,000 0 80,000
01 Al&HI 80,000 0 80,000
O=dSI| ¢xImDI= XMel
400,000& x200= 80,000
20248 =2 THHIAHR X M 2ZHALS 300,000 0 300,000
= 150,000
< 45,000
Al 105,000
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g Haac
oSl ARIZES HASE AHIA MR (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 300,000 0 300,000
= 150,000
== 45,000
Al 105,000
01 AL =S F=H 300,000 0 300,000
O202448 =2 MHIAZHK MZAIH0 HE <«
H|xt 7 300,000,000& *14] 300,000
= 150,000
== 45,000
Al 105,000
MEHIIZ AHE 2el 80,000 80,000
307 lztol & 40,000 40,000
02 2IZHB A E & 40,000 40,000
OdHIIE HE 2l
40,000,000 *14] 40,000
401 AIEHIX R0 40,000 40,000
01 A28l 40,000 40,000
OANE =cliiEg £X
4,000,000 10H 40,000
HaEg =UztE St Itz 1,982,361 2,192,939 210,578
= 13,400
=S 8,920
Al 1,960,041
MHes =cltiE =H A =8 1,282,933 1,868,204 A\585,361
101 ©1AH| 48,733 29,294 19,439
M ORNZZ2NSE S 48,733 29,294 19,439
OHIIE A, g2S 278l & 4i =2
EEgee 18,865
—JlZ2= 78,8803 x 12 +212+82 13,252
-5+ 78,8802 x1&x35& 2,761
—s52+d 78,880 x 1 12& 947
—=0ld= 16,959,200 *4.. 5% 764
—2ZES 16,959,200 *3.545% 602
—1EEE 16,959,200& *1.75% 297
-3y 601,2042%12.81% 78
—&HEE 16,959,200 0. 962% 164
OMEEESHE HEESE<R0I 28,245
—JlZ2= 49,3303 x2H+212+0H 18,647
-5+ 49,3303 2 *36& 3,44
—5E2F=2E
39,4402 x2H %172 %150f% 2,012
—352=E 49,3303 x2&H %13 1,283
—=8le= 25,379,640 *4. 5% 1,143
—2IEE 25,379,640 %3.545% 900




A BAXE D
Hu: mape
thel: 8 2UsE S8 A= (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
— &Y 899,708 *12.81% 116
—UEEE 25,379,640& %1.75% 445
—&HEE 25,379,640 %0.962% 245
ONEES 2Ll 2ARAIE AEHZAL 1,623
—JlEs 78,8802 x4 H x4 1,263
-5+ 78,8802 x4 H 1 316
—IEEE 1,577,6002%1.75% 28
—&HEE 1,577,600 %0.962% 16
201 2= 100,300 100,300
01 AtR2t2lt] 13,700 13,700
Olgss =Zcliis 28 2= MA
500,000& *42] 2,000
ONgE HEMA M S 28t e M
150,000 * 100K 2 1,500
OHEZS HIIKENSS 2SI &8tz
400,000& * 122} 4,800
OZx2s MEELTSHH SX=
450,000& 123 5,400
2 35234l 86,600 86,600 0
OUEHII= &otxtE XA 72l
400,000 42| 1,600
OoMggs MHs+HI| | 2l
7,083,333~ 128 85,000
202 04l 3,600 3,600
01 2LHoIH 3,600 3,600
OMEE8R mUHEZ0I 3,600
—MEEAE X 288
20,0003 *102&! 2,040
—HEs & LAI0IZ2HE 243 LA
a8t S 60,0003 62 x33] 1,080
—HAOIZ24IE tE 2R NI (LY, &2
Il S) 60,0002 x4 & =23 480
206 M=l 1,600 1,600
01 MZH| 1,600 1,600
ONgES 2cl=HE, HAIXN+=HE +
= 200,000 x4 =22 1,600
301 22N = 13,500 13,500
14 0Bt 2a s 13,500 13,500
OHAEX % S0/ nSMA(SHSEE)
833,333& x 122 10,000
OoEls)| 252 AL MOkt &
50,0002 %104 500
OclZ242dcl2MEZ7E
250,000& * 122 3,000
307 212+01& 1,105,200 1,410,000 304,800
05 2ItRIE = 1,105,200 1,410,000 304,800
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Hu: mape
&l W22 IUSE S& A& (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSNE sgHesSAE el
180,000 70 525 655,200
OBEZ WS +)H2l SIS
5002 %75, 000K CH* 12 450,000
308 AXIHMSO0IA 10,000 10,000
08 w=J |20t 2x 10,000 10,000
OS01% WH2E 243t AL
1,000,000& 1001 W 10,000
12188 A =2017] 4,862 4,741 121
101 @124H| 4,862 4,741 121
MU IIRIMZZENSES 4,862 4,741 121
O12188 AMUa AFEE 2B A 4,862
—Jl2= 78,8802 x5 * 10 3,944
-5+ 78,8802 x5 x2 789
—1NEES 4,732,800 *1.75% 83
— & HEE 4,732 ,800& *0.962% 46
ssdoty & N3 28,000 20,000 8,000
= 8,400
= 3,920
Al 15,680
401 Al HIZ 2018 28,000 20,000 8,000
= 8,400
[ 3,920
Al 15,680
01 Al&HI 28,000 20,000 8,000
OgsHlIZ +8AIE X
7,000,000 *40H 2~ 28,000
= 8,400
< 3,920
Al 15,680
Aol 2o 2 MESEDAY 22t X2 31,000 31,000 0
307 elztol & 31,000 31,000
02 2B YA E X 31,000 31,000
OX =8 0t &=DI
15,000,000 * 10 2= 15,000
OXtel=et2sXI&
16,000,000 * 104 2 16,000
HElY =A2a= K& 25,000 40,000 A15,000
= 5,000
=S 5,000
Al 15,000
301 EtE NS 25,000 40,000 15,000
= 5,000
= 5,000
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AT

Hu: mape
thel: 8 2UsE S8 A= (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 15,000
14 0Bt 243 25,000 40,000 A15,000
OgsHble +=H&d=s s
25,000,000 * 14! 25,000
= 5,000
= 5,000
Al 15,000
=HYAOISHE CME 29 110,566 149,904 A\39,338
101 21AH| 34,698 58,344 N\23,646
M ORNZZ2NSE S 34,698 58,344 N23,646
O=TAI0ISHIE 22 282X € &3
&l el 34,698
—JlZ2= 78,830 x 1 *212 12 19,878
-5+ 78,8802 x 151 4,023
~TEYU(BI)LY
78,8802+ 12§+ 162 1,263
—FYR2sy
78,8803 x1H 512 *150% 6,035
—=glo= 31,197,0402 4. 5% 1,404
—dLEE 31,197 ,0402 +3.545% 1,106
—1I=E2E 31,197,040 *1.75% 546
— & HEE 31,197,040 %0.962% 301
—ILEE 1,105,935 %12.81% 142
201 et23| 41,560 41,560
01 At22te|Hl 20,560 20,560
OZAOI2HE EE2=2 24K S HH
200,000 %53 1,000
OYAIOISHIE 2ERIs HA=H
100,0003 5 »23] 1,000
OgAOIZHEH 277 & 425 Tl
166,666 * 123 2,000
OYAOISHEH ZBIE EH ¥ EHIAHLI
440,000 52 2,200
OZAI0ISHIE =2 28 22 &2 [
= 60,0003 *32| * 100 2 1,800
OZAOIZ4IE F==J1, dIitl &t
180,000& * 12 2,160
OZAOI2HE &gt ae| a5
166,666 122 2,000
OYAOISHIE S2D] erMzte] HE ==
= 166,666« 12& 2,000
OgAI0IZ2HIE 213 H|
183,333& * 12 2,200
OgAI0I2HH AgotM2e |+
166,666 * 12 2,000




2A:

AT

B HA
&l W22 IUSE S& A& (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZAOIZHE 5201 oF FII2A 24
= 166,606& * 12 2,000
OZAOISHE 28 & s3I erE2ek
w=H 16,6662 « 122 200
® 2=2H| 21,000 21,000 0
OAOIZHE ®IIQ3
500,000 * 122 6,000
OYAOIZ2HE ZAIIA 25
700,000 %122 8,400
OgAIOI2HE &ot+= 2=
150,000« 128 1,800
OYAOISHIE QIHY, M3 SARS
75,0002 <2CH+ 12 1,800
OgAIOI2HE HAMEAIE =& FX2
250,000 x 122 3,000
301 EetE2 N = 34,308 40,000 Nb,692
4Bt 2as 34,308 40,000 25,692
OZAIOIZHIE ZPAHI 34,308
—AOISHIEH EI| 2208 2A =&
1,192,333&« 128 14,308
SAIOI2HE R0l W ZAE
40,0002 +3A1 2H+1253] 15,000
—2LSY S LA
250, 0002 x2E *102 5,000
eIZXs MEES Us+I10| &XI(FE 04 500,000 500,000
201 2= 34,550 34,550
2 S52g4l 34,550 34,550
OsXl2teltl 300,000& x17CH+6E 30,600
Oelgdl, &Jies 395,000 102 3,950
301 EtE N = 19,200 19,200
14 DBt 2 a3 19,200 19,200
o822t
25,0003 x2& *40H A-+83| x 123 19,200
401 AIEHIZ R 0HYI 446,250 446,250
01 Al&HI 446,250 446,250
OXts=HI| &Xl 25,000,000 *17CH 425,000
OOI=/dote e &x
1,250,000 %1790 2= 21,250
SHNSFHII= 2=t & oHFH X 4,879,789 3,243,492 1,636,297
SHEFHIIZ &EH Xl 4,879,789 3,243,492 1,636,297
101 212A4H| 16,239 16,942 1,703
04 JIZtN2Z2 XS+ 16,239 16,942 A1,703
Oss+8HSA=FHII=28SE L 7,455
—JlEs 78,8803 x4 x202 6.311
-5+ 78,8803 x4 H+32 947




EA HAXRD
Hu: mape
Ciel: SASBEHDIS 2 L HEH He (el =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—NEES 7,256,960 *1.75% 127
—dEEE 7,256,960 *0.962% 70
OSASBHIIS LSS S NEIE
At 7,784
—JlEs 78,880 7 x 12 6,626
-5+ 78,8803 12 947
—UEEE 7,730,240 1.75% 136
—&HEE 7,730,240 %0.962% 75
201 =3 65,464 65,464
01 At22t2l] 38,464 38,464
OSAMEFHIIZ 2 & 2CliE 2=
NES 700,000& *22] 1,400
OsAa=FHII=2 UXN =58
466,000 *42] 1,864
OSASEHIIE 448 2+ Ha=
2,200,000 *4CH*43] 35,200
2 S524g4l 27,000 27,000 0
OSSTERFID SEH ACIANAE FAE+
g9 60,0002 *450CH 27,000
206 MH=Hl 45,536 45,536
01 MZH| 45,536 45,536
OBEZE 2){8)| ASAETY
14,0002 *1,4200K 19,880
OB =HEJ| X&
60,000 » 100K 6,000
OSAlEFHII=Z 2N
353 +46,80001* 122 19,656
307 el2tol & 4,673,550 2,973,550 1,700,000
02 2IZHBYAIAE & 93,400 93,400 0
OSASFRHIIZ =HEI| MEBI(SSFH
) 93,400,000 * 14! 93,400
05 2IR”IRIE = 4,580,150 2,880,150 1,700,000
OSASXASAE Sie2a)
281,679, 1662« 12& 3,380,150
OSAalSAa=NE gg= 22t?ERel
100,000,000& x12& 1,200,000
308 AXIHSO0IA 20,000 20,000
08 WEII20UStEx 20,000 20,000
OSAl=ZlD|I2 289N 22825t
A& 2,000,000 1001 20,000
401 A2 HIRL 201 60,000 60,000
01 Al&HI 60,000 60,000
O3S sAa2Xedl S2II(RFID) £X
A+ 2,500,000 ~24CH 60,000
2N e 22 1,957,147 2,368,139 A410,992
dEe e AldES 2l 1,844,147 2,188,639 N344,492




S AT
Ha: HAp
0

ool 2XS HeE g (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 167,700 163,200 4,500
01 At2teltl 46,640 46,640 0
Ollgld =8ZA === 6,680
—XIot=Z At 170,000 x4 542 2,720
—EETZM 330,000& * 122 3,960
OMBE MIIQHBRIYY 242
160,000& «12& 1,920
Od2HIISHEE HII= d4E4BAL =
=8 5,400,000 14 5,400
Ollgd d=J| & Hitl elEgs
230,000 *4=2 7| 920
OSIHBAIAR AR 2UY
200,000& 42 800
OUNY®E gxig 87 22l o Aey|
35,0002 *23] 70
OEEAIL &HHl 28 &+
50,0002 +32] 150
OZctoelH Xz 200,000 * 122 2,400
ONREZEATUH €4 ¥ ST
127,500 43 510
Olgd e=x+¢ 26,700
—2 3 60,0002 ~80 4,800
—=3 60,0003 *365& 21,900
ORE 22X Fei= 2l
170,000 6% 850
OXtg Il M ===
60,0002 *2CH*23] 240
2 S22l 121,060 116,560 4,500
OFEFXcE BHs2Al &4
60,0002 x100m**23] 12,000
ONR oIS +HS X
100,000 43 400
ONEE MES4 2506 U HE KX
el 500,000 *42] 2,000
ONYE 4884 283 Ha
400,000& 22 800
OFE+Xcl¥ 2HS =Al2c
500,000 42| 2,000
OUEE HZ2U S HEE AIdE RA2
500,000 *42] 2,000
OHEE HBI(24D], 5, YAX S)RF
ul 5,000,000& «12& 60,000
OFIQB(NRAH+ESET2IH)
1,800,000& *12& 21,600
Ogxa, ZYA BL ozl
500,000 *42] 2,000
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Hu: mape
ol SsS e 282l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Olgd &t 23
450,000 128 5,400
O E XHSEZ(0IEIH2412)
560,000& *12] 560
O8N RES(EHAIEE)
800,000 12 800
OUMRE =@ AT o2
1,000,000& %12 1,000
ONRE MER:(2E) A%
6,000,000& *12 6,000
OMEE SIS e 27 Do
500,000 12| 500
OUEd = ide sXi2el
1,000,000 *43] 4,000
202 048l 960 952
01 2L AL 960 952
OFE+ =2ZA 22 E&
60,0002 x2& +83] 960
206 M=Hl 34,487 34,487
01 MHZH| 34,487 34,487
Ollgld &=l 848,916 122 10,187
OFE+Xcld 45+l
1,000& *1,500H 1,500
Olgd =8N 78 7,600&*3,000m" 22,800
307 @I2t01 & 1,490,000 1,690,000 A200,000
05 2IR”IRIE = 1,490,000 1,690,000 A.200,000
OEZIA RAE XMeld
25,0002 %10,000H 250,000
OUEHDIZ |1 Ml
320,000&+3,875= 1,240,000
308 AHAIEMSOIE 105,000 300,000 195,000
14 IIEtR8=s 105,000 300,000 195,000
OdgHll= NEFES
15&+7,000,000kg 105,000
401 Al HIZL S 0HYI 45,000 45,000
01 Al&HI 45,000 45,000
Olgd &xHH & =8 223
7,500,000 <22 15,000
OUEH HDI= Hlah g Ald
50,0002 X &600m 30,000
405 AtatE=H 1,000 1,000
01 TR =S FSHI 1,000 1,000
OE & AIR4 9Xt wA|
250,000 x4 1,000
HETHDISHE Y 2 XM 70,000 70,000 0
308 AtXIEMSOIH 70,000 70,000 0




A BAXE D
Hu: mape
ol SsS e 282l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
07 AX R FE= 70,000 70,000 0
OMSHIISIHBE 2t A (FLU=SA
E&l) 70,000,000 *14] 70,000
SAHEAE 29 2 43,000 44,000 21,000
201 fet=2 3| 43,000 44,000 21,000
02 S3=gHl 43,000 43,000 0
O&tl ¢=Hl 3,333,333& ~ 128 40,000
OYAIFEAIE & ZHI(2AD1S) |FA2L
250,000 * 122 3,000
AE=gdE 292kl 8,690,554 7,842,661 847,893
A=y otdd 29 8,605,004 7,779,111 885,893
101 @124H| 129,134 123,801 5,333
MU IIRIMZENSES 129,134 123,801 5,333
OXtE =2tilie =2 AR E SHI 129,134
—Jl2= 78,8802 x4 x 212x110HE 72,886
—5E22=+E 78,8803 *1.5+4H 482 22,718
-5+ 78,8803 4H 49 15,461
—352sE 78,8803 x4 162 5,049
—=gld= 116,111,3602 4. 5% 5,226
—JdHEE 116,111,360 *3.545% 4,117
—1IE2E 116,111,360 *1.75% 2,032
— & HEE 116,111,360& * 0.962% 1,117
—IRLEE 4,116,150 +12.81% 528
201 er=2 3| 28,620 21,220 7,400
01 AtR2te|HI 24,200 16,800 7,400
OXtE =2l &+ +EZA =8
750,000 * 122 9,000
OXt=sdliEHI I SdaE4 At
3,200,000& *42] 12,800
O z=gtdlle AIRY AP, 8JI8
iz 200,000 x 122 2,400
02 S3=gHl 4,420 4,420 0
OXrd =gt AFRA Q1Y & cotv SAlHI 4,320
—QlESAMEZ 290,000 * 122 3,480
—cctva = 7,000 *10CH* 12 840
SE(SI) =2 10,0003 %10 100
202 04| 1,000 1,000
01 2L A 1,000 1,000
OXd =gt 2R d&XAS
500,000 <22 1,000
308 XtXIEMSO0IE 506,250 506,250
18 S [2S0tHer 34 A A A 506,250 506,250
Ongoz Ai MUS(HIS) ISt 2]
125,0003 *90E+3002+0. 15 506,250
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Chel: &Sl 292k EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 8,000,000 7,633,090 366,910
03 2IZH2AETAI I 8,000,000 7,633,090 366,910
Ot =2t 2t W= Xl
225,000%4%35,555.555= 8,000,000
N=gHE MSAE 2 25,550 63,550 38,000
201 ger=3| 5,550 2,850 2,700
01 AtR2te|H] 2,700 0 2,700
OTAlL.MEAE 28 225 FaHl
500,000 52 2,500
OHALLHMEAIE HEl0l s0lAlE HE otd
W= 50,0008 42 200
2 s5=34l 2,850 2,850 0
OAIE&H8l |XI 2eld 712,500 *42] 2,850
301 EtE2 NS 20,000 20,000
14 0Bt 2a3 20,000 20,000
O =81u= ZAH] 40,0003 x5002] 20,000
Sl MEHDIZE MelAE =4 2,081,700 110,176 1,971,524
A=A 1,981,700 110,176 1,871,524
201 Ler23 | 92,960 90,360 2,600
01 At2t2lt] 92,960 90,360 2,600
Ogldd =g 29 2| 3,800
—eXN&Fs e HIIE
300,000 43 1,200
—SI28l BB LY
100,000 13 23] 2,600
OgNdd 3o 247 & 428 74
660,000 14! 660
Ogldd 2= MEH|
2,500,000 43 10,000
Ot eI o3l 319
100,000 *10 1,000
OFgXSE AN 22
100,000& x15E 53] 7,500
OHIXHZ0I HIHKXIJE &= 2030 AHRz=gt Al
g2 70,000
—=2 dFE, HA S 24
3,000,000& x2I A *50H & 30,000
—0OlHtE S &84
30,0003 20070 A +2J0 2 12,000
—SESHHOHEHE S)
8,000,000 *14] 8,000
—SSNHESAE EE2ZY MH
20,000,000& * 14! 20,000
202 04l 3,240 5,000 A1,760
01 2LHoIH 3,240 5,000 1,760
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ESEADN S,

[uins

Hu: mape
Bl AR MEHDIZ MelAld =4 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONgas 28 QEX A8, AEAY, 0
= S 0l 60,0003 x6 & *93] 3,240
203 =] 5,500 4,000 1,500
REESEEES 5,500 4,000 1,500
ONREBEY 92 =X
5,500,000 * 14 5,500
301 22N = 30,000 10,816 19,184
11 dALEEIXIE S 30,000 10,816 19,184
OHJISXMeIANE 28 =4S X Ad
& 100,000& x20H 153 30,000
308 AHXIEMSOIE 50,000 50,000
18 SIS0t HAS A 50,000 50,000
OdlrHIIZSHMeIANE 2dS fIe A2 &
2 50,000,000 x14] 50,000
401 AIEHIZL 2 THYI 1,800,000 0 1,800,000
01 AlZ8| 1,800,000 0 1,800,000
OXAIU SSAHEBAIE SHAHSTA
200,000,000& *x14] 200,000
OXMUSS AL JI2AHE+E G
1,500,000,000% 14! 1,500,000
OZAIHEAIZ(HIISHMEIAL)ZE S
100,000, 0003 * 14! 100,000
M| 2 23 EAs /S HES 27 MA(F 100,000 0 100,000
HO0AH)
307 elztol & 100,000 100,000
02 2B A HE L 100,000 100,000
OMDl 2 2at 2ts 28t WEs AR
NES 100,000,000 14 100,000
HH2LSZH(HAXRAD) 11,515,323 10,650,871 864,452
el 23 11,357,428 10,496,476 860,952
eIg =3 11,357,428 10,496,476 860,952
101 e124d| 9,090,041 8,645,907 444,134
01 2= 434,487 410,986 23,501
OAlLRAZ 25
11,3192 x45E+30A| 2+ 123 183,368
Oxgdae=dg 90,9853 x23ZH *120A1 2t 251,119
03 SRH(RIH )22 U2+ 8,655,554 8,234,921 420,633
Ostgdil=ta 21fY 8,655,554
—Jl2=s 2,356,450« 125& 122 3,534,675
—Jg==g 2,516,450 x125% x225% 707,752
—3d2+4 2,516,450 x 1252 %100% 314,557
—HE s 2,516,450 x 1252 %225% 707,752
—AZte 222
28,5802 x 125 +50A| 2+ 123 2,143,500
—SEFOHI 2,516,450 x125E *120% 377,468




SN BATRD
M HAPAZH|(HAXRD)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ESE 120,000
i< At 40,0003 x 1262~ 122 60,000
SIS 20,0002 x250H 123 60,000
—ZHZAHI 160,000& x 125 «12& 240,000
—Axt=g 152,400 x125F x25& 476,250
—2EXeE 700,000& ~4H*12& 33,600
201 eer23y| 217,000 217,000
01 AtR2te|HI 200,000 200,000
Ot lIHAANES 200,000
—&gs &« get=s 34,259,000 * 14! 34,259
—QtM 5} 80,0002 x125& »23] 20,000
—&st 22,0003 %1269 2,750
—otM 17,2003 %125 2,180
—<2 60,0003 »125H 7,500
—QtE AT 13,0002 125 #2323 3,250
—0Es2E&L 4103+ 1258 %1424 7,278
— 2 4,000& 125 100K 50,000
—NBR& 2 1,3102 x 1252 %1504 24,563
—1=22a0tA3 2,000& * 125 *193H 48,250
2 S5=2g4l 7,000 7,000 0
OSR4a 24X =
7,000,000 14 7,000
03 A= I 10,000 10,000 0
OBZH0|31 2B HAIX
5,000,000& 22| 10,000
M HASFESS 2,050,387 1,633,569 416,818
02 2UAHLEES 346,147 323,123 23,024
(@Fakai-t= =3 8,655,552,000& %3.545% 306,840
OFINLEE= 306,839,320 *12.81% 39,307
04 R (RIHA)22N BE=RES S 1,704,240 1,310,446 393,7%4
OlsEgs 8,655,552,000& *1.75% 151,473
Ou A2 = 8,655,552,000& *0.962% 83,267
O=tASEEE 8,655,552,000& *4. 5% 389,500
OEIAXEI X 180,000,000 6 1,080,000
=3l 157,89% 154,39% 3,500
JI=23H] 157,89% 154,39% 3,500
201 er23| 54,005 53,025 980
01 At2teltl 49,665 48,685 980
Odtfetdut SSAY = A=
1,100,0002 122 13,200
Odejatady atd4 gt SXtz
71,9163 * 122 863
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i °”§S%%HI(§Z¢I}%I’_H
s Jl=dhl EER=E)
2 - IE
S B SR(EA) - NIRAY - BES ol ke e HmES]
OMEISAHE SIIXIAMNEA a2
330,000 %43 1,320
OFEALXEW=SAEX 2|
250,000 & *43] 1,000
OFLNA V2SI LRSS
250,000& 122 3,000
OMEfSEHH AEA THEY 2 &8
ol 322
—&4 2 122,000& *12] 122
—CE& WAl 200,000& *13] 200
OJ|2g2(=U22N) S20Al|
8,000 x24F 7L« 128 16,128
OZctogl gXs € FINES 6,480
—ZetEEHY = (012)
340,000& x 123 4,080
—ZEetZEHFIIAERZ
200,000& * 123 2,400
Os¥oely 2dxtz 275,000& 123 3,300
OFXAL H==D| A&
36,0002 122 432
OMESIRME ARAl TRIE 2%
60,0003 128 720
OMENSIAHE AZA B4| ARt
83,000 x4 332
QU A HIE AT ARE P2
166,666% 122 2,000
O 2HISHY ZEEEH 2 &
e 568
—&El FH 184,000& »23] 368
—Ccy 2| 200,000&!*13] 200
02 Z324l 4,340 4,340 0
OUHSAUH dHYI| 2=
330,000& 123 3,960
OEHESIpc SAMHI 19,800« 12& 238
Ost=HoI=83ldl 142,000& *123] 142
202 04l 77,280 73,920 3,360
01 =L LI 77,280 73,920 3,360
OJ 22 HEZ 0]
20,0003 »46H 7L+ 123 77,280
203 R =& 26,610 27,450 AB40
01 J| 222G R FAH| 4,400 4,400 0
OMEHSAMEHAE 4,400,000 1 4,400
02 RIRHA R 8,170 9,010 AB40
OFJAINIHRFEH 8,170,000& 14! 8,170
M FA2ILSFL 14,040 14,040 0




SN HAXAD
A HZYRAZH(HAXEL)
chel: Jl=2dh] (EEEE))
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OFAEIERFa|
1,170,000& 122 14,040
Heas(FATE) 1,510,000 1,450,000 60,000
SHAHX S 1,510,000 1,450,000 60,000
LHE 01 ch 1,510,000 1,450,000 60,000
RISHES 1,510,000 1,450,000 60,000
o1 JI=sdE=S 1,510,000 1,450,000 60,000
OXtE =gy =8 FeXIIS(ZENS
SEHOHH 2| 10%) 5,100,000,000& *10% 510,000
OHPISXMeIAE X883 S (08EL)
1,000,000,000& 12 1,000,000




